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51. ^ PHHrdPslcl

^ f ?

(A)

(B)

(C) Ife

(D) 31FTO

52. "VT^ ̂  vi^Rd ̂  m [HMPdR^d ^

3T^F1T t ?

(A) ̂  3TS^ ^

(B) OT yPdMlP^d f^ T3^"

■q^* ^

(C) <i^Rd ^ ^ WT

(D) ci^Pid ^ 3;T8f ^

(3)S/24/2022-A

51. According to Buddhists, which of the

following is known as Aprapyakari

(capable of working without reaching the

object) ?

(A) Indriya

(B) Manas

(C) Buddhi

(D) Ahaihkara

52. Which of the following is a stage that

does not follow when a word is uttered ?

(A) Recognition . of the meaning

signified .by the word

(B) A constructive apprehension of the

different independent meanings

presented by the words

(C) Belief in the truth of the meaning of

the sentence uttered

(D) A correct analysis of the meaning of

the sentence uttered

P.T.O.



53. ^ ̂

t ?

(A) #Kl

I? 1^ ^

(B) ̂  ̂ ^HHHdl ciiwRich

"^n®? oldl ^

(C) '-jft' ̂  ̂ ^ 1^^

f  f

(D) ̂  ^ '^' ^

54. 3Rm ̂  3^5?IR ^

PiMpdr^d ^ ™ ̂  ̂ t ?

(A) "SIc^ ̂  ̂ 3TS^ ̂  t

(B) 3TTT

t

(C) "51^^ "?T^ ̂

71^* ̂  3Tsf Tm?T a^T^ f #

^  ̂ t* ^ -21^ WT ̂

31®? di^dldl t

(D) ^ 37®? "3?^ ^ 37®?

V^ "3^ MK^Rdi

t

(3)S/24/2022-A

53. In the light of Buddhism which of the

following is incorrect ?

(A) Words deal directly with conceptual

images which are subjective

constructions of mind (Vikalpa)

(B) The word has a direct correspondence

with real extemal thing

(C) The word *cow' refers to the

exclusion of all objects that are not

'cow'

(D) A word cannot signify a unique

particular

54. According to Prabhakar's

Anvifabhidhana-^da which of the

following does not fit well in the frame ?

(A) Each word has a meaning

(B) The purpose of the word is to serve

as a part of a sentence

(C) On hearing the words of a sentence,

we get the meaning of the words

independent of the sentence, which

alone constitute the meaning of a

sentence

(D) The meaning of a sentence is made

up of the individual word-meaning

and their mutual relation



55. "Rterr ^ ^ ^

(A) ■t<^ct;l

iTFT^ t

(B) =^HiRei ^ leiM. 04ifa 3T^ WFff

^  ̂ "5?^^ t

(C) ^ '■^-U.ry^'-MH'

f ^ 1^

(D) 37^3^ ^ wRt =+)6dldl t

56. ^ ^ ■5fHI?T t H t

3lf^T5 ^ #Tf 3^k

^ ̂  TO t l" 31^ 31^^

3lt^ ^ 315^IR =^^ellcfl t ?

(A) ^n?m

(B)

(C) ^

(D) ^

(3)S/24/2022-A

55. In the light of MimamsS Philosophy,

which of the following is incorrect ?

(A) Kumarila and PrabKakara maintain

intrinsic validity of knowledge

(B) For Kummla, illusion is due to

non-discrimination between two

imperfect cognitions

(C) For Prabh^ara, illusion is

'non-apprehension' and not 'mis

apprehension'

(D) Imperfect knowledge is called

illusion

56. "It is neither waking nor dreaming and

nor sleep but transcending as well as

witnessing to the three stages"— refers

to which of the stage of Atman according

to Advaita Vedanta ?

(A) Jagrat (Waking)

(B) Swapna (Dreaming)

(C) Sushupti (Deep Sleeping)

(D) Turiya

P.T.O.



57. 715^ ^ t ^

t- ^ ^

t ?

(A) (B) 1^?^

(C) (D) ̂H?5lfM8J

58. %T ^ 313?IR PiMldHslcl "q^mi

'^' ̂  t ?

(A) ̂  (B) 3qf^

(C) Wl (D) 3T5^

59. if^' ̂

(A) m\m

(C)

(B) "mm

(D) «qH

60. wfl Rpq^n ^ '^* rnnRriRdd

■^f '^m\ vft % 7

(A) wTsj—<A«&

(B)

(C) WIR—"Rf^

(D) -qtRRiq^

(3)S/24/2022-A

57. Sound is a quality because it is visible—

it is an example of which kind of

Hetvabhasa ?

(A) Badhita (B) Viruddha

(C) Svarupasiddha (D) Satpratipaksha

58. Which of the following is not a *Yama'

according to Yoga Sutra ?

(A) Santosha (B) Ahimsa

(C) Satya (D) Asteya

59. Withdrawal of sense organs from their

respective objects is known in Yoga as :

(A) Prahayama (B) Pratyahara

(C) Dharana (D) Dhyana

60. Which of the following is correct pair in

reference to the acceptance of

Pramanas ?

(A) Determinate perception—Buddhist

(B) Verbal testimony—Charvaka

(C) Analogy—Smikhya

(D) Anuplabdhi—Mim'^saka



61. ^ t

f ?

(A)

(C)

(B)

(D) ̂

62. ^ PinRrlRsld

^75^ t ?

(A) ̂  37T^pr^ t^Tcir TTI^

(B) ■i'ldil ^I^IPtdi Ho&Io ^

^ "^f ^^iRt «ndt "t

(C) ^3^ "^FMcT "Slcq^ ^

(D) "C ^ i!\ ^5™

311^ r^^l-d t

63. "MMot "5^ <\k\r^^ ^ WTT

#ET ^ W "^iW ^ "STrat t ?

(A)

(B)

(C) 31^

(D) -qi^f^Tit^

(3)S/24/2022-A

61. Which philosopher believes that 'Esse est

percipi' ?

(A) Plato (B) Kant

(C) Berkeley (D) Hume

62. Which of the following statements is not

true in the context of Descartes ?

(A) He is known as the Father of

Modem Philosophy

(B) His philosophical methodology is

known as 'Method of Doubt'

(C) He rejected innate ideas

(D) His famous axiom is—'I think

therefore I am (Cogito ergo sum)

63. Which of the following Philosophers is

regarded as one of Seven Sages of

Greece ?

(A) Plato

(B) Thales

(C) Aristotle

(D) Parmenides

P.T.O.



64. [HWRrinsld 1M^

^ r^dH sfk "^T^

li^ :

(a) ^'iiA'ilQil'5il

(b)

(c)

(d)

1.

2. ^

3.

4. eii^l^oai

:

(A) l-(d), 2-(c), 3-(a), 4-(b)

(B) l-(d), 2-(c), 3-(b), 4-(a)

(C) l-(a), 2-(c), 3-(d), 4-(b)

(D) l-(c), 2-(d), 3-(a), 4-(b)

65. rHMPdr^d t ^ ̂

«TT :

^ ̂  31^

13n, OT oilPtd ^ ^

2TT, ^ wrt ̂  "41^^11

«n I"

(A) (B) Hi4r-isl^

(C) (D)

(31S/24/2022-A

64. Match the following Philosophers with

the books written by them and choose

the right answer :

1. Plato (a) The

Phenomenology

of Spirit

2. Hume (b) Theodicy

3. Hegel (c) A Treatise of

Human Nature

4. Leibnitz (d) The Republic

Codes :

(A) l-(d), 2-(c), 3-(a), 4-(b)

(B) l-(d), 2-(c): 3-(b), 4-(a)

(C) l-(a), 2-(c), 3-(d), 4-(b)

(D) l-(c), 2-(d). 3-(a), 4-(b)

65. About which of the following

Philsophers Plato wrote :

"This, Echecrates, was the end of our

friend, a man, as we may say, the best

of all of his time that we have known,

and moreover, the most wise and just."

(A) Thales (B) Parmenides

(C) Anaxiraenes (D) Socrates



66. ^ "ST^ teM t : '

(A) ^ -qm^ t

(B) "^qoi hR^oi ^

(C) ife "3^ ̂  I^TRfui t

(D) ?iH ^

67. "1?^ ̂  ^ WR ̂  ̂

qq "^T^ff^ -q^x^ ̂  t :

(A) ^

(B)- Wdl^iddi

(C) ci^

(D) Rn;ciiid<+)

68. ^ilPddci^ ^ 3T3^ ̂  :

(A) 3Tk t

(B) • 3iRRq 3^ qR^tfq^ t ■

(C) (A) 3?k (B) t

(D) ̂  ̂  (A) t ̂  (B) t

(3)S/24/2022-A

66. The main principle of Socrates is ;

(A) Man is the measure of all things

(B) Only change is true

(C) Understanding makes nature

(D) Knowledge is virtue

67. For the proof of existence of God,

St. Anselm's most important argument is :

(A) Moral Argument

(B) Ontological Argument

(C) Teleological Argument

(D) Cosmological Argument

68. According to Heraclitus 'reality' is :
/

(A) Permanent and Constant

(B) Impermanent and Changeable

(C) Both (A) and (B)

(D) Neither (A) nor (B)

P.T.O.



69. ^ ̂ "fer ^ ̂  -

^ STRICT 3^^ ̂  ̂  t,

"^R^ ■d^Hchl drsRl

3lf^ ^ t I"

(A) (B)

(C) (D) ^

70. dl^lMo5I ^ ̂  ̂ 1^F#lfeT

RT [q"m< =hl[^k. :

1. "3=1^ ^ "Sfe feRT t-315q™ ̂
3fk R^lfRT ^Ruidl ^ I

2. "STO s?5q ^ RTR

- ^ 'Slut '^ictl ^ I

3. dicti ''I?" "^PI^

«PRff ■^* t I

4. TRifRT WW ^ ^

3iRacq "fefe ^ 1^ M^lVl "f^RR ■'FTT

t 1

■^q^ ^ 3PIK i^WT

:

(A) 1, 2, 3 ^ 4 RHt t

(B) 1, 2, 3 t

(C) 2, 3, 4 t

(D) 1, 3, 4 t

(3)S/24/2022-A

69. Which of the following'philosophers has

said — "Knowledge begins with

experience, but does not necessarily

originate from it."

(A) Plato (B) Kant

(C) Descartes (D) Locke

70. Consider the following statements with

reference to Leibnitz's Philosophy :

1. His two main principles are —

Principle of non-contradiction and

principle of sufficient reason.

2. His theory of substance is known as

Monadism.

3. According to him 'This world is the

best of all possible worlds'.

4. He used the law of sufficient reason

to prove the existence of God.

Choose the correct answer on the basis

of the above-mentioned statements :

(A) All 1, 2, 3 and 4 are correct

(B) Only 1, 2, 3 are correct

(C) Only 2, 3, 4 are correct

(D) Only 1, 3, 4 are correct

8



71. s*iH % 7

(A)

(B) «rf, W7, 312?,

(C) 3TSif, -am,

(D) 312?, 21^?, -Rtg

72. ^fen, ^ ̂**1

t:

(A) (B) hIh^K^Ih

(C) ^ (D) ̂

73. PiMRnfeu '^' ^ chl'KHi 11^

t ?

(A) ^

(B)

(C)

(D)

74. 3lTj^ ^ ^ t :

(A) ^ (B) fWfT ̂

(C) ̂  ̂ (D) ^

(3)S/24/2022-A

71. Which one is in correct sequence ?

(A) Artha, Kama, Dharma, Moksha

(B) Dharma, Kama, Artha, Moksha

(C) Dharma, Artha, Kama, Moksha

(D) Artha, Dharma, Kama, Moksha

'72. Maitri, Mudita, Karuna and Upeksha are

related to :

(A) Jainism (B) Mimarhsaism

(C) Buddhism (D) Yoga

73. In the following which one does not

belong to Jaina's Triratna ?

(A) Samyak Jnana

(B) Samyak Bhavana

(C) Samyak Darshana

(D) Samyak Charitra

74. Concept of Apurva belongs to :

(A) Charvak (B) Mimarhsa

(C) Jaina (D) Nyaya

P.T.O.



75. ^ "TO

t  :

(A) '^'

(B) ̂  ■^*

(C) "^*

(D) <JM^cki ^ ^

76. ^ t :

(A) (B) ■^'

(C) '^* (D) 3IITW

77. '^' t :

(A) ^ (B) ^ ̂

(C) ^ (D) ^ ̂

78. 1^' t ?

(A) ^ ̂  (B) "Prg

(C) (D)

79. ■5^" 13^ ■^*
f?

(A)

(B) -tictitrH

(C)

(D) ^WTT

(3)S/24/2022-A

75. Concept of 'Leshya' -has been discussed

in :

(A) Charvak

(B) Jainism

(C) Saiiikhya

(D) None of the above

76. "Tripitaka" is written in :

(A) Sanskrit (B) Prakrit

(C) Pali (D) Apabhransha

77. 'Samvara' is related with :

(A) Jainism (B) Buddhism

(C) Charvaka (D) Vedanta

78. Which one is not Vedic Rin ?

(A) Deva Rin (B) Pitra Rin

(C) Prakriti Rin (D) Rishi Rin

79. Which one is not in Ashtangika Marga ?

(A) Samyak Drishti

(B) Samyak Sankalpa

(C) Samyak Vak

(D) Samyak Bhavana

10



80. ^ ̂ t : "

(A) ̂  (B) W

(C) wn (D) ̂

81. Pinl^Rad Rti<H ^

^ Tim^ t ?

(A) Pi^hI ^

(B) ^ *3^?^ ̂

(C) wnfer "Pmf

(D) "PtRcPT

82. PiMPdn^d ^ 13:^ 3Tfri?fTO

feicT TTRI "sn t ?

(A) "Profq "q;^ dif4d> Prok t

(B) Wqf ̂  y^ipiid tor

^  t

(C) ^ HHpHdi ^2^Pt

o^H^Kl «b<Cll "1^

(D) i^pk ̂  Ppf^ "3^' t

(3)S/24/2022-A 11

80. Protector of Rta is :

(A) Agni (B) Usha

(C) Varuna (D) Surya

81, Which one of the following according to

the teleological theory is the highest

moral standard ?

(A) Divine Laws

(B) Highest end of life

(C) Social Laws

(D) Lowest end of life

82. Which one of the following can be

regarded as a subjective theory ?

(A) Moral judgement is a logical

judgement

(B) Moral judgements cannot be proved

(C) Moral judgements express the

mental stage of the speaker

(D) Moral judgement is not a judgement

P.T.O.



t ?

(A) (B) <iM^lnidl<^K

(C) aTCTJptaK (D)

84. ^ w^' ̂

1^ ?

(A)

(C)

(B) te

(D)

85. "PFTfeTfecT

^  t ?

(A) stW^h (B)

(C) fer (D)

86. "sfe ̂  %T afe 3k ̂  ̂

■50^" ^ "fRi ^ ^ t ?

(A)

(B) ^

(C) ^iibkaiqis Ri<&ia

(D) "^* *=t)l^

(3)S/24/2022-A

83. Self-realization is the theory of which

one of the following ?

(A) Rationalism (B) Utilitarianism

(C) Perfectionism (D) Hedonism

84. Who gave the theory of 'Duty for Duty's

Sake' ?

(A) Butler (B) Mill

(C) Bentham (D) Kant

85. Which one of the following thinkers has

recommended the Hedonistic Calculus ?

(A) Aristipus (B) Bentham

(C) Mill (D) Sidgwick

86. Which punishment theory holds the

principle "An eye for an eye and a tooth

for a tooth" ?

(A) Preventive Theory

(B) Reformative Theory

(C) Rigorism Theory

(D) None of the above

12



87. RHfdRsid ^ ^ ̂

-q™ t ?

(A) 37^^ (B) "^^iTRT

(C) (D) ̂

88. ^

1^?

(A)

(B) ■^. TT^T.

(C) Rn^fqcti

(D) 7^

89. rHHPelRsld P^-dK=bT "4* ^

"Wfl ^ ^ t ?

(A) f^ m (B)

(C) i (D) T3;. TT^R

90. fiTOT 1^ WT ^ sMf aw

t ?

(A) WH^

(B)

(C)

(D) c^uhlcMcti

87. Which philosopher has considered

Justice as a cartJinal virtue ?

(A) Aristotle (B) Socrates

(C) Bentham (D) Plato

88. Who gave the theory 'Paradox of

Hedonism" ?

(A) Jeremy Bentham

(B) J. S. Mill

.  (C) Sidgwick

(D) H. Spencer

89. Which ofthe following thinkers has stated

that moral judgements are meaningless ?

(A) Prichard Ross (B) Novel Smith

(C) G. E. Moore (D) A. J. Ayer

90. Under wliich branch does emotive theory

come ?

(A) Cognitivism

(B) Non-cognitivism

(C) Naturalism

(D) Descriptive

(3)S/24/2022-A 13 P.T.O,



91. rHHPdRsld

TT^" tTWMgr ̂  TT«2T ^RPv-dd

^ ̂l4)K t ?

(A) t4k

(B) ̂ di=ii(n

(C) tM

(D) fq4^iis

t ?

(A) fqqchM-^

(B)

(C)

(D)

93. '"^-4^:^' ^

t ?

(A) ^ ^

(B) ^ ̂HHHdl eT^

(C) HHcidl ^ -^Icn^a #TT

(D) dH^dd "^f "drlf

{3)S/24/2022-A

91. Who among the following philosophers

accepts a certain harmony between

Aesthetics and Metaphysics ?

(A) Tagore

(B) Iqbal

(C) Gandhi

(D) Vivekananda

92. Who has written the book 'The Buddha

■ and Karl Marx' ?

(A) Vivekananda

(B) J. Krishnamurti

(C) Ambedkar

(D) Gandhi

93. What is the characteristic of Bodhisattva

in 'New-Buddhism' ?

(A) Efforts for others emancipation

(B) Fight for the equality of all

(C) Take a life-oath to serve the

humanity

(D) None of the above

14



94. ^ ^ ̂  t 1"

(A)

(B) -^. ^ni4

(C)

(D) ■

95. ^ ̂  f I' -q?-

t ?

(A) trk

(B) RR. T3^, ^

(C) 3Rf^

(D) Rit.

96. 1TO 3fk aiPdHH^ ^ ̂  ̂

t :

(A) ̂  (B) ̂ :373^

(C) 3ir??iiFRT (D) fer

97. ^ TftcfT' t%RT ^ OT

"n^ t ?

(A) 3Kf^ (B) ̂

(C) ̂ I^WJH (D) Pcj-^chH^

(3)S/24/2022-A

94. The statement 'Religious Experience is

the essence of seligion' is given by which

philosopher ?

(A) Gandhi

(B) K. C. Bhattacharya

(C) Radhakrishnan

(D) Ambedkar

95. 'Theoretical consciousness has four

grades.' Whose theory is this ?

(A) Tagore

(B) M. N. Roy

(C) Aurobindo

(D) K. C. Bhattacharya

96. The stage between mind and supermind

is :

(A) Intellect (B) Intuition

(C) Overmind (D) Chitta

97. 'Essays On Gita' is written by which

philosopher ?

(A) Aurobindo ' (B) Tagore

(C) Radhakrishnan (D) Vivekananda

15 P.T.O.



m

t l" Pcti-H^l "felK t ?

(A)

(B)

(C) 3Rf^

(D) TI^|(J)Njh

99. "Q^ ^ ^

t I" t ?

(A)

(B) U 4lH<^ld

(C) hk

(D) 4eTHT

100. ^ ̂ ^ ̂ ̂

(A) ̂  ̂

(B) ̂ "IRioii "5^

(C)

(D)

98. "The first thought should be means

between ends and means." Who thinks

so ?

(A) J. Krishnamurti

(B) Gandhi

(C) Aurobindo

(D) Radhakrishnan

99. "Nation is a self-bom, organised and

lively existence." Who says ?

(A) Gandhi

(B) Pt. Deen Dayal

(C) Tagore

(D) Maulana Kalam

100. To whom we can say the Second Buddha

to a saint poet of the 19th century ?

(A) Bhima Bhoi

(B) Jyotiba Phule

(C) Narayana Guru

(D) Namdev

(3)S/24/2022-A 16



101. ^ ^

t" ?

(A)

(B) cw^tom

(C) ^ R^cKuiieMch

(D) irmtiTRTT

102. ■^* ^78^^

TR?T t ?

(A) fFTttotiNt T^ ^ t

(B) ^l^^fPicb M®!

t

(C) frnWrhM "q;^ ^

(D)

103. ^ t

(A) ^

(B) ^ 'm

(C) ydlPd^

(D) fesfd

(3)S/24/2022-A

101. 'Phenomenology' is related to the study

of: j

(A) Logic

(B) Metaphysics

(C) Descriptive study of consciousness

(D) Epistemology

102. Which statement is true about

Phenomenology ?

(A) Phenomenology is a system of

philosophy

(B) Phenomenology is a method of

philosophy

(C) Phenomenology is a philosophical

attitude

(D) All of the above

103. The scope of Phenomenology is :

(A) Substance

(B) Thing in itself only

(C) Appearances

(D) Intentional theory of consciousness

17 P.T.O.



104. RMPeiRsid ^ Wl" t ?

(A) yrd<4clK—

(B) 3T?^mR—

(C)

(D) RT^

105. <sc^<: "^ncll

t ?

(A) ^ (B) t^rf^ ̂

(C) Rft. V^. 1W (D)

106. rHMPdn^d ^

(A) ?T1^ (B) RTT^

(C) Mi\\i (D) 3T^-^

107. "mfe ^ PHHPelP^^d

^^RTT "^f "^Tc^r

t?

(A) 37^3 t

(B) 3^3 cnfer t

(C) 3^13 ^\^\i t

(D) 31^ yPd^kll^ t

(3)S/24/2022-A 1

104. Which of the following pairs is correct ?

(A) Subjective idealism—Berkeley

(B) Objective idealism—Plato

(C) Absolute idealism—^Hegel

(D) All of the above

105. Whose philosophy is called Radical

empiricism ?

(A) John Dewey (B) William James

(C) C. L. Pierce (D) Schiller

106. Which one of the following is not an

atheistic existentialist ?

(A) Hiedegger (B) Sartre

(C) Kierkegaard (D) Albert Camus

107. According to Logical Atomism which

one of the following is not true about

Atoms ?

(A) Atoms are material

(B) Atoms are logical

(C) Atoms are units of language

(D) Atoms are prepositional

8



108. "fri^ ^ "fe'

^ t :

(A) TFT ^ (B) ?Tlk ^

(C) 3TI?qT ^ (D) ^

109. ferr' feTcI r^^chl ^ f ?

(A) FilFT (B) 3iTRiii

(C) (D)

110. 'cnfe X#T ̂

«IPTT ^TTtTT ^ ?

(A) (B) TT, -Q^n:

(C) FTf^ (D)

111. 3TT^ ^ ^ :^f

RroSi'd "I" ?

(A) IWfT

(B) Tfqyy4 Ri-aia

(C) %g[FT

(D) pH-^ld

112. "STT^T ^ -f^

■R^* ^ 3Q^<9i 1^ "TO f ?

(A) 3n3 (B) ^

■(C) •qfg (D) ^

(3)S/24/2022-A 19

108. Gilbert Ryle's theory of 'Ghost in the

Machine* is related to :

(A) Mind

(C) Soul

(B) Body

(D) God

109. 'Speech Act' theory is contributed by :

(A) Ryle (B) J. L. Austin

(C) Wittgenstein (D) Husserl

110. Logical Atomism is known as the

philosophical view of :

(A) Russell (B) A. J. Ayer

(C) Locke (D) Berkeley

111. Which principle among the following has

been discussed by Achaiya Kautilya in

the context of Foreign Policy ?

(A) Two-fold Policy

(B) Five-fold Policy

(C) Seven-fold Policy

(D) Six-fold Policy

112. The number of forms of marriage to be

found in Ancient Indian scriptures are :

(A) Eight (B) Two

(C) Five (D) Nine

P.T.O.



113. "p: ̂  ^

^ W 7F7T t ?

(A) ̂

(B) ̂

(C)

(D) -m

114. iT?TTOr TI^I^ ̂  TOT "^f

Sl^^nfecT f ?

(A) WT (B) ̂

(C) (D) ̂

115. ̂  ■^" ^ 1^

Pi*-iRiRsia '^* ^ t^rH^ ^ ?

(A) ^mm

(B) HIeINK

(C)

(D) <iM^cK1 '^'

113. According to Mahabharat; victory

obtained through a war is categorized

as :

(A) Low

(B) Perfect and of highest order

(C) Medium

(D) Even

114. In the context of Rajdharma, out of

Sama, Dama, Danda and Bheda,

Mahabharat recommends which of the

following should be used as the last

option ?

(A) Sama (B) D^a

(C) Danda (D) Bheda

115. Joint Family System in North India is

influenced by the rules of :

(A) Mitakshara

(B) Malabar

(C) Dayabhag

. (D) None of the above

(3)S/24/2022-A 20



116. ^ ,1^

"Sf^ ̂  ^ <itr^<2i \k>^\

% ?

(A) (B) W

(C) ̂  (D) ̂

117. [HHldRsId

T^te? 3TtaT TTHT W ?

(A) "^TOT ^ 37toiR

(B) 3lfyRiR

(C)

(D) <iM-^l<T 3lfqq7R

118. PiHRrlPsld ■^- 3ir^ ^

^ <>m<sMi ^ di<tl "t ?

(A) wten^ (B)

(C) 31^^^ (D)

119. ^Id^clK- fMw ^
^  ̂ "qifer

felT IM 8^1 ?

(A) ^.TT.^.T3;.

(B) ■q??.^."q^."q;.

(C)

(D) ^

(3)S/24/2022-A

116. In the context of a State System, how

many types of detectives have been

mentioned by Acharya Kautilya ?

(A) Twelve (B) Seven

(C) Ten ■ (D) Nine

117. Which of the following is not considered
as a fundamental right by the Indian
Constitution ?

(A) Right to Equality

(B) Right to Freedom

(C) Right to Property

(D) Right to Constitutional Remedies

118. Acharya Vinoba Bhave explains

*Sarvodaya' in the spirit of:

(A) Utilitarianism (B) Hedonism

(C) Antyodaya (D) Democracy

119. Which of tlie following 'Acts' was passed

in order to deal with specific situations

pertaining to ten-orism in India ?

(A) TADA

(B) MISA

(C) NJAC

(D) None of the above

21- P.T.O,



120. 41Ri^K TTGS ^ 3fTT

^ t ?

(A) W (B) 3TT^

(C) ̂  . (D) ̂

121. ̂ iHiPvJich ^ "qr

snrnfer t ?

(A) "HTOcrm

(B) ̂ fcqiq

(C) (A) ̂  (B)

(D) <iH^ck1 ^

122. "gWT^ ̂ iPd^iciK ^ t :

(A) cj^^ctiql (B) ^liddiciKl

(C) (D)

123. ^ TTPH ^ 1^

'■dH6K HMtl "i"* I ^

^  ̂Pidl4 t I

^ ̂ TSH t ?

(A) ^

(B)

(C)

(D) <i4^«W "4* ^

120. According to Kamandaki's Nitisara the

number of components of a Nation are :

(A) Seven (B) Eight

(C) Nine (D) Ten

121. Theory of Social Contract is based

upon:

(A) Humanism

(B) Rationalism

(C) Both (A) and (B)

(D) None of the above

122. Nature of dialectical materialism is ;

(A) Realistic (B) Materialistic

(C) Idealistic (D) Nihilistic

123. Plato asserts education the highest gift

for mankind. Therefore education for

every child is compulsory. Which type of

statement is this ?

(A) True

(B) False

(C) Doubtful

(D) None of the above

(3)S/24/2022-A 22



I  .

124. ^ ^ HHIRchT ^

t :

(A) ?TRT^

(B) ■9Pi4i

(C) c^ijim-O .

(D)

124. The qualities of the citizen of Plato's

Ideal State are ;

(A) Lawful Ruler

(B) Brave Soldiers

(C) Sobre Merchants

(D) All of the above

125. "Rt^^RT eiHL t^TR j 125. To implement a liberal theory of equality,
the liberals oppose :

(A) Commimism

(B) Ideal State

(A)

(B) 371^^ <1^

(C) dM-iilu

(D)

(C) Use of redistributive taxation

schemes

(D) All of the above

126. ^ TO fera I 126. Which one of the Nozic's Entitlement
^ ' I Theory is out ?

(A)

(B) ^

(C) 3^^ ^ ^

(D) ^

(A) Principle of Transfer

(B) Principle of Just initial acquisition

(C) Principle of rectification of injustice

(D) Principle of enforcement

(3)S/24/2022-A 23 PJ.O.



127. MlPd^ciK t :

(A) ^

(B) 37T^^l[rH«t> WI ̂

(C) (A) (B)

(D) <iM^=ki "^*

128. "3M ^ iicfW

^  t'—-^TF fel "3^^ ̂

i?

(A) ̂  ̂PMclel

(B) dj^PdW. ^Pd^wl

(C) (A) sk (B)

(D)

129. ^

t^jTT 'c]|^ "^^TFT

^ -g^ mj "^f

^ :

(A)

(B)

(C) Wfto V^ 37^ ^^Tf^

(D)

(3)S/24/2022-A 2

127. Dialectical Materialism rejects :

(A) Religious beliefs

(B) Spiritual entity

(C) Both (A) and (B)

(D) None of the above

128. "The history of all hitherto society is the

history of class-struggle"—this statement

can be found in :

(A) Das Capital

(B) Communist Manifesto

(C) Both (A) and (B)

(D) None of the above

129. According to Charles Taylor the groups

wanted to be accommodated within the

mainstream instead of being treated as

deviant group, are :

(A) The Feminists

(B) Cultural minorities

(C) Homosexuals and other religious

groups

(D) All of the above

4



130. Wnf^ stwt™ ̂  %TT

f  I ^ sRmront IwmR

wt t :

(A) ^ ̂̂HHHdl

(B) ^ 3mqRm

(C) ^ srtr™

(D) ̂ 5^^

131. H\\r<^ ■^* :

(A) ^ ^
cM=Kl "^1^ f"

(B) "f^^ "3^ ^ iiuNWchdl ^
o^=K1 "i"

(C) ^ cl^clNciidl ^

(D) "3^ 1^^ "q^ ^ "^PT^^hIT
^R3T t

132. ^ i^RT a^'qi^ "q^

"qq ^ "qr^ "^j "3^ "qr^

■ #:

(A)

(B) ^

(C)

(D) 3#f^ -^m

(3)S/24/2022-A

130. The gender differences continue to serve

as the basis for social inequalities. These

inequalities refer to the following
disparities :

(A) Inequality regarding basic facility

(B) Inequality regarding opportunity

(C) Inequality regarding professional

and domestic work

(D) All of the above

131. In verbal proposition :

(A) Predicate states the denotation of

the subject

(B) Predicate states the connotation of

the subject

(C) Subject states the denotation of the
predicate

(D) Subject states the connotation of the

predicate

132. The proposition of syllogism that

contains both major term and minor term

is known as :

(A) Major Premise

(B) Minor Premise

(C) Conclusion.

(D) Additional Premise

25 P.T.O.



m
133. ̂  A sfk B f 3^ X sfk

Y  P -^STT Q ̂  TJ^ 3T^

t, rHHPcrinsld ■^* ^ "q;^ ^

f ?

(A) P-X

(B) (QvX)-(Qv-A)

(C) Pv-(Q-P)

(D) (P-B)-(P-X)

134. ^ "Ni^ ^ ̂  t' OT

felTS# t' diRicb

t :

(A) om»mc^=tidi

(B) dMiRiciai

(C) ^

(D) PlMOddl ^

135. 37T^ TTsqTT ^ WT ^
"qq ^2T[ ^ "3^ "qq ^

t ?

(A) "qzTB STTl^f^

(B) "fert^ 3ti^

(C) 371^

(D) 371^

(3)S/24/2022-A 26

133. If A and B are true statements and X and

Y are false, but the value of P and Q are

not known, whieh one of the following

is true ?

(A) P-X

(B) (QvX)-(Qv-A)

(C) Pv~(Q-P)

(D) (P-B)-(P-X)

134. The logical relation between 'Students

are never faultless' and 'Every student is

faultless', is of :

(A) Contradiction

(B) Sub-alteration

(C) Sub-contrariety

(D) Contrariety

135. In which figure the middle term is the

predicate in the major premise and

subject in the minor premise ?

(A) First Figure

(B) Second Figure

(C) Third Figure

(D) Fourth Figure



136. ^ t', ^ PinrelRsId

TT^ "srfe#! "gRT

t ?

(A) ̂  t

(B) ̂  3T^ -^T^* t

(C) t

(D) ̂  ^ t

137. I ̂  ̂  n ^^Rrid ^ ̂

^ ̂̂i-Mdi "3^ :

"^11

(a) (1) cll^f^od

dcb'vil^

(b) "Sc^mr^ (2)

(c) oHcieKci|<{l (3)

d^r^ll^d

(d) *dk (4)

:

(a) (b) (c) (d)-

(A) (1) (2) (3) (4)

(B) (4) (3) (2) (1)

-  (C) (3) (4) (1) (2)

(D) (2) (3) (4) (1)

(3)S/24/2022-A 27

136. Which one of the following propositions

has been inferred from 'All birds are

living beings' by obversion ?

(A) Some living beings are birds

(B) No bird is non-living being

(C) All living beings are birds

'(D) No bird is a living being

137. Match List I with List II and choose the

correct answer by using codes given

below :

List I List II

(a) Traditional (1) Leibnitz

logic

(b) Idealistic logic (2) Aristotle

(c) Pragmatic (3) Hegel

logic

(d) Mathematical (4) Dewey

logic

Codes :

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (4) (3) (2) (1)

(C) (3) (4) (I) (2)

(D) (2) (3) (4) (1)

P.T.O.



138. -ciHchdl t ^

yal^^iirHqi ^Vii :

(A) {3x)(Gx.Ax)

(B) (3x)(Gx.-Ax)

(C) i3x)(-Gx.-Ax)

(D) (3x)(~Gx.Ax)

139. ^ "mrro^ ̂

f", :

(A) didcri "5^^ "t

(B) ^ t

(C) '^*

^ f ■

(D) "3^^ "q^ afti "q^

^ t

(3)S/24/2022-A 2

138. The correct symbolic form of "All that

glitters is not gold', would be :

(A) (3x) (Gx . Ax)

(B) (3x)(Gx.~Ax)

(C) (3x)(~Gx. ~Ax)

(D) (3x) ( ~ Gx . Ajc)

139. In the proposition, "Cats with blue eyes

are generally deaf :

(A) Only subject term is distributed

(B) Only predicate term is distributed

(C) Both subject term and the predicate

term are distributed

(D) Neither subject term nor predicate

term is distributed

8
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140. ^ ^ ̂  ^

<|triciKl fiTFKR t I

^ Xr^^ 37f|XTT •^" XFTsf^ t I

31^: ̂  3lfOT ̂  ^HH<K

f I

S = 3Tf^ ̂  XRsf^* ̂  ."^

H = ̂hm^kI w\

N = XI^5^ ^ ̂

W '

(A)

(B)

H

(C)

H

(D)

H

140. Choose the correct answer with the help

of codes by using Venn diagram :

All nationalist leaders are honest.

Some nationalist leaders are the

supporters of non-violence.

Therefore some honest persons are the

supporters of non-violence.

S = Circle of supporters of non-violence

H = Circle of the honest

N = Circle of nationalist leaders

Code :

(A)

(B)

H

(C)

H

(D)

H

(3)S/24/2022-A 29 P.T.O,



X41. ^ 'm

^ ̂d<4dl' 31^ ̂  qt ?

(A) 375^^ 19(a) (B) 37^^^ 05

(C) 315^ 12 (D) 373^ 10

142. rHHPdr^d ■^* ^ 1^ ^ 3711Tffe

TT^fqTcT ^ "SIT t ?

(A) ^fii-ORct) ^ Rny,

(B) eiieid-Mieid ^iF? "5^ "1?^

■

(C)

(D) ^ ̂  mm

143. 'Euthanasia' "^TTf^^ 37^ ^ f ?

(A) "q;^ sfR; "^fhi

(B)

(C) 375^

(D) ciM^dd "^f ^ "d#*

141. In which part of Indian Constitution

'Freedom of Press' was granted under the

broad spectrum of freedom of

expression ?

(A) Article 19(a) (B) Article 05

(C) Article 12 (D) Article 10

142. For which of the following reasons,

unnatural abortion can be called

justified ?

(A) To maintain physical beauty

(B) To be free from the task of

parenting

(C) Livelihood context

(D) Incurable disease of the foetus

143. What is the literal meaning of

'Euthanasia' ?

(A) A gentle and early death

(B) Experience

(C) Perception

(D) None of the above

(3)S/24/2022-A 30



144. ^ ^ 1970 ^

^  "qftf^siW ̂  "^f -rm

■qiftfrsTf^ ^kIcih ferr sir ?

(A) "^rfer

(B) 37^ %

(C) W

(D) ^ ^

145. 3Tf!?^^ 5mK Tifm ^ Wk^H "zp

3NT^ "qr nR?T arf?!^^ arf^l^PTq

^  'TRT ^ ^Tcf^s^j ct,<a1

t ?

(A) mj 30

(B) mj 37

(C) m 35 ^ 36

(D) mi 127

146. -m

3Tte^ ^ ti^iRp+id ^ 3rf^ ^kN! ^

'4* t ?

(A) 02

(B) 1^ 03

(C) -fWT 04

(D) f™ 11 ^ 33

(3)S/24/2022-A 31

144. Which philosopher of Norway began the

deep ecological movement in the early

1970's concerning the ecology ?

(A) Peter Singer

(B) Ame Naess

(C) Paul Taylor

(D) None of the above

145. Which section of the Advocates Act in

-  India provides punishment for violation

or non-compliance of advocates code of

conduct ?

(A) Section 30

(B) Section 37

(C) Section 35 and 36

(D) Section 127

146. What is the rule made by the Bar

Council of India regarding the duties of

an advocate towards his client ?

(A) Rule 02

(B) Rule 03

(C) Rule 04

(D) Rule 11 to 33

P.T.O.



147. PmRrlRsld ^ ^ t

"f^ ckrlld «ldHI ^Vll ?

(A) Tl^ MhV-^

(B)

(C) ̂

(D) tf. sfk

148. rdHRdRdd ^ dldidlPddi W^T

^  ̂ "f^ ■«

t ?

(A) ^gfel (B)

(C) (D) ^

149. rdHRdRdd ^ ^ ^ HlPdiillW

^ V:^ c^ld^lRcb -qHT t ?

(A) it. 11=^. im

(B) 3-sel

(C) triTdi

(D) R^di^l

150. PihRtiRsici i ̂ "f ?
(A) ^j,y^=Ki — <nTch

(B) ^Piciiai — "q;^ Riil^Vs
(C) ^ — 3ii %
(D) "fTOT ^^Pddi —

PcldHi

(3)S/24/2022-A 32

147. Who in the following has made it clear

that cloning a human would be
unethical ?

(A) Aldo Leopold

(B) Dr. Sidgwick

(C) Zeno

■ (D) Dr. Wilmut and Roslin

148. What is known as the 'Fourth Estate'

of our democratic society in the

following ?

(A) Doctor (B) Media

(C) Lawyer (D) Court

149. Who among the following Philosophers

considered ethics as a practical science ?

(A) P. H. Nowell Smith

(B) Bradley

(C) Locke

(D) Spinoza

150. Which one of the following pairs is not
correct ?

(A) Applied Philosophy — Locke

(B) Land Ethics — Aldo Leopold

(C) Deep Ecology — Arne Naess

{D) Cloning human unethical —
Dr. Wilmut
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